Confetti Crush	


A large metropolitan newspaper ran the following headline on January 1, 2000, above an article describing millennium activities in Times Square at midnight on New Year’s Eve:


35 Million Tons of Confetti Fall on Times Square


�An alert mathematics teacher from a local high school wrote the following letter to the newspaper:


Please advise your news office that 35 million tons of confetti did not fall on Times Square New Year’s Eve. A  ton is 2,000 pounds, so 35 million tons is 70 billion pounds. Authorities estimated 2 million people in Times Square at midnight. Seventy billion pounds of confetti equates with 35,000 pounds per person---equivalent to 10 automobiles per person. How come I didn’t hear of revelers crushed by confetti?


A spokesperson for the newspaper responded as follows:


The writer is absolutely correct. Upon checking, I find that the amount of confetti was actually 4 million tons, not 35 million.





1.	What is your reaction to this exchange? Has the error been corrected to your satisfaction? 

















2.	Can you think of a way, using a measure other than automobiles, to describe the effective weight per person of the 4 million tons of confetti? 
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